Algebra Ch. 6 Word Problems Day 3     Name____________________

For each problem, define 2 variables, use a system of equations and solve.

1. A two-digit number is 6 times its unit digit. The sum of the digits is 6. Find the number.

2. The tens digit of a two-digit number is 6 more than the units digit. The number is 2 more than 8 times the sum of the digits. Find the number.

3. The sum of the digits of a two-digit number is 7. If the  digits are reversed, the new number is 3 less than 4 times the original number. Find the original number.

4. The sum of the digits of a two-digit number is 6. If the digits are reversed, the new number is 3 times the original tens digit. Find the number.

5. A two-digit number is equal to 7 times the units digit. If 18 is added to the number, its digits are reversed. Find the number.

6. The tens digit of a two-digit number exceeds twice the units digit by 1. If the digits are reversed, the sum of the new number and the original number is 143. Find the original number.

7. The sum of  the digits of a two-digit number is 13. Twice the tens digit is two less than 5 times the units digit. Find the number.

8. The sum of the digits of a two-digit number is 12. If the digits are reversed, the new number is 18 less than the original number. Find the number.

9. A bank teller reversed the digits in the amount of a check and overpaid a customer by $9. The sum of the digits in the two-digit amount was 9. Find the amount of the check.

10. The sum of the digits of a two-digit number  is 12. The units digit is twice the tens digit. Find the number.

11. The units digit of a two-digit number exceeds twice the tens digit by 1.The sum of the digits is 7. Find the number.

12. The tens digit in a two-digit number exceeds twice its units digit by 1. If the digits are reversed, the number  is 4 more than 3 times their sum. Find the original number.

13. The tens digit of a two-digit number exceeds the units digit by 4. If the digits are reversed, the sum of the new number and the original number is 154. Find the original number. 

14. The ratio of the tens digit to the units digit of a two-digit number is 1 to 4. The number formed by reversing the digits is 2 less than 3 times the original number. Find the original number.

15. The sum of the digits of a two-digit number is 9. If 45 is subtracted from the number, the digits are reversed. Find the number. 

16. The units digit of a two-digit number divided by the tens digit is 3. The sum of the digits is 12. Find the number.  

